EARAROBEEIERT — 2 N— IBISH —F

201854 A 158 (B) 2EIBR#H8H

mﬂa% 3% REEF [5E] BEs ESRE R
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. = izg opidich 2. - . . 2A1E (ER)
115110 4 ,7/7_)[/[/,( 3 A53.T) 1(1_2)3 1-1 37.1| 88.9 14 (i?g) X
b5 K B:FIXXTATIN B4 Rlak
R 43 | Bt 1:12.7 8-8 36.7| 85.3 | 1 472 | #HURA (ER)
217013/ 777> KT—=7 ¥¢55.0 2 1/2) (-12) | AR
RN=—F—29T BTFAIRATAR 2= FHs
. it 3 | BERHE 1:13.1 11-11 | 36.7| 81.7 | 11 | 456 |BERBIME (FH)
3l5l9| 7V /A%y b 54.0 21/2) (1) | AT
L:d—IWRT7Y2—b B:9)JEUFZRT Bovie]
VI 4 3 | dERER— 1:13.2 2-2 37.7]80.7 | 3 432 | RHEET (RR)
4 12 FAXAT 72> 56.0 (1/2) 2) BT
L:A—KApFa7 B:RTYLTFry b HEBT7—L
N N — aIEF :13. - . . BORAIE (EXR)
5 gl x1vamnnas 3 = 1 (113)4 -1 | 37.1]78.8 | 2 ?8)2 Ak
R:AAYavR—-5— B:F4—Tt—% Sliztae]
_ Sm = H Bt :13. = . . AE—R (EXR)
6l8lis Fe g — 5T % 3 E 11\37L;1 2-2 37.8| 78.9 | 16 (4_360) G,
LANKRTINT BiFI/RIT SEHS
. “ i 3 | JIBE= 1:13.4 16-14 | 36.4| 79.0 | 9 464 | BR (ER)
7\7|14| E-TY 54.0 () o) | AEEE—
R:TUF—Y BxIIL Heh 82
4 3 | BEES 1:13.5 5-4 37.7| 77.9 | 8 488 | FZILBERE (RR)
sy 11| 7TV -5~ 56.0 (1/2) (g) | AR
L:N— K28 BNRNFRLFT2UT HE SR
.y s RHE 13. - . . NHEE (EXR)
9 6|8F/Fv—0 [B) 3 i (171;75) 14-14 | 36.6| 78.1 | 15 as) e
¥ JANZN B:T7LTFTA4ILT ARSUHB A/ 77— 4
B3 | EE 1:13.6 4-4 37.9| 77.1 | 13 | 462 |MTHRE (ER)
10 3| B bLT ¥¢53.0 (1/2) o |BlES
L:T7RIf Y L—> BN-—H2X HiS45%
N i 3 | BREX 1:13.6 10-6 3751769 | 6 486 | SIEEZ (BR)
1j1|2|ER/FUA> 54.0 ) o) | TR ()
L:hY/ RI47T BehwAN—F Fralsis
S 4 3 | HAILBLE 1:14.2 8-9 38.2| 71.9 | 5 422 | BEHE (RR)
12(111 | YUAILEY =L 54.0 (3 1/2) © KT
R:N—KZIX> B:R)—LF¥tEx Sz e ]
N 3 4 3 | HEILEREA 1:14.9 11-13 38.5|65.9 | 12 424 | THEEZ (EX)
131815/ * =27 YLXS 54.0 @ o) |
R:z—MLEYIL B:EF7/KLO F4is
5 it 3 | BRER 1:15.3 5-6 39.5| 63.8 | 4 424 | ETRSBE (FER)
14N 7| Fr—LUT 54.0 21/2) © | YSTLYKITT 5747
IANRZATINYT BIXATIWKRFv—L AN S
N — MERE : = BOEN (BEXR)
15 5| ¥aTFE1—F4 i 3 5‘5?} (12.115/.27> 5-9 39.8| 60.8 | 10 ::3:) g;gﬁ%
REATAT v — BRI aITIXR ERKZ &y K
“ 43 | AR 1:16.5 14-16 | 39.2| 53.0 | 7 530 | tARKME (RR)
16 4| V¥AHYVE—O— 56.0 (5) (-) | HLETEEE
LinzZ—ka—X B:vehysuy> FE%S
@ 71 L
) 48.8-37.1
NA>Z4 L | 12.5-11.0-11.7-12.0-12.1-13.0
® I —F—@EBIERL
1T=7r=
20—7—
Gol=5r= 10(12,16)3(5,7,11) (1,13)2(9,8,15)-(4,6) 14
43—F+—  [10(12,16) (3,11) (7,2)13(1,5) (9,8) 15(14,6) -4
[ N3
B O 10 15,100 714K 10-13 3,370 e E 5-7 6,540M JEHE 9-10-13 485,400/
8 B 10 2,770 9-10 85,380 B = 10-13 21,070M B 10-13-9| 4,892,430M
13 160/ 9-13 4,320 B H 10-13 53,580
9 2,170M

ABICOVWTRDTEEERROODE. TR LIV,




